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TR 104E 71 23 86 21 11 373

=[EHT 28 5 40 6 5 129
S ET 20 9 27 7 4 122
&IIH 17 7 13 5 2 108
YR FHHT 6 2 6 3 0 14
FERL124F 74 25 104 28 9 390
=[EHT 29 7 46 11 5 141
R T 19 9 34 6 3 121
&IIH 19 7 17 7 1 110
YR HHT 7 2 7 4 0 18
TR 144 75 22 109 28 5 438
=[EHfT 29 6 52 8 1 153
R T 17 8 33 6 4 130
&ILHT 22 6 14 7 - 125
YR FHHT 7 2 10 7 - 30
TR164E 82 22 121 54 26 1,062
=[EHfT 31 5 64 14 4 193
R T 21 9 31 15 13 387
&ILHT 24 6 19 14 7 318
YR FHHT 6 2 7 11 2 164
SERR184F 78 25 125 29 11 513
TR 204 78 27 139 31 10 541
TRE224F 77 26 122 35 7 559
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